PBE 1 ARy e HTIEE 1 [m]

[1] ROMI 2L 72 X\,

10 m/s o ( ) km/h
20 m/s o ( ) km/h
( ) m/s o 108 km/h
50 m/s o ( ) km/h

[2] R Ez xfiOIEDAE LT 2, HEHENZ Y — Fls S IS > T 10 o
112 300 m —EDHES THE -7, 2D 10 BEDOHBEOL, #HE, HEIX, ZnZ
< 5D,

3] M E% xfOFEDME & $5, EHAPN X ICHHE 72km/h TE-> T\ 5, HE

X [m/s] DRI TV 6?2 F 72, FHRZHEFELZE LT, 100 BPEOZEAMIZWL 5007

[4] M 2] DBED Xt 777, BLXO VL7 77 2FHT,

[5] M [B] DBED Xt 7T 7, BLXUO VL7 T 72FHT,

6] ZRIE p.4d4fiEH 2128 VT, ti=] ST X DALET, =68 Txe D ETH-H7- &
T 5 EHBHEOMEIZWL 5007

x 7S Y E2E1I~1 829> TELIL

'S K%




